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% # MEEIHASE FHREBA g4 R BHEFEEBEHT 35
® B B BT FIR R VE FAERFE BT B F P % = WEY I, UT v T b= U AREBEHEKBRERE K GEE (INEKEY)
F&A A7 (kW) 890, 000 kW o W 2, 660, 000 kW

® B (% | 48 | s | en | ZAR | 7a | sA | om | FER | bmw | 108 | 118 | 128 | Z2E| 1A | 2n | sn | BgE | ewst | wmsm | 27F
B K B 1| 10°kw 0 0 0 918 918 918 918 ——
EIF B B H| 10°kw 0 0 0 590 890 738 368 ——
& w  =F % 0 0 0 0 0 0 97 97 64 97 97 97 97 80 40 ——
EAE SRR RS % 0 0 0 66 100 83 41 ——
®ERMEK h 0 0 0 0 0 0 720 744 1, 464 744 672 744 2, 160 3, 624 3,624 ——
| REWEAE | 10° kWh 0 0 0 1,302 1,923 3,225 3,225 ——
FEIWMBEIE | 10° kih -27 -27 -54 1,240 1, 844 3,084 3,030 ——
E AN E S | 10° kih 9 9 27 27 54 9 26 27 62 27 25 27 79 141 195 ——
#( /%\ 2 % )z % 0 0 0 34 35 34 34| —
| BAREWE | 10° kw 0 0 0 0 0 0 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2,660 ——
2R EHBEHS | 10° kW 0 0 0 0 0 0 2, 580 2, 580 1,711 2, 580 2, 580 2, 580 2, 580 2, 141 1,087| ——
H | # gi&;ﬁﬁg h 0 0 0 0 0 100 720 744 1, 564 744 672 744 2, 160 3,724 3,724 ——
|| BIHEER 10° kJ 0 0 0 0 0 0 6, 688 6,911 13,599 6,911 6, 242 6,911  20,064| 33,663 33,663 ——
HE zk%g%g ke 0 0 0 0 0 0 77 80 157 80 72 80 232 389 389 ——
[Ei} ; ?%{mgs g 10° kJ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 of —
wEol g | 100k 0 0 0 0 0 0 6, 638 6,911 13,599 6,911 6, 242 6,911|  20,064| 33,663 33,663 ——
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RIFIEETT 8 S
B — 1

(20214 )
; e %1 %2 - %3 %4 - - 3 AR
I = 7 . = BT = 7 G BT = BT = 7 G G =
B H 1%5‘15%% HAL | 4H 5A 6 A e 7H 8 A 9A P32 EMEt | 10A 114 124 P32 1A 2 A 3 A EATE TR | ARG P
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
vIUDR ke
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
%= 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
AT (;/)g 35 ke
% =
B
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
o
T = A ke
DE
LY}
" 4.10 18,846 | 18,846 | 18,846 | 18,846 | 18,846 | 18,846 | 18,846 | 18,846 | 18,846 | 15,081 | 15,081 | 15081 | 15081 | 15081 | 15081 | 15081 | 15081 | 15081 | 15,081
9 4. 80 42,260 | 42,260 | 42,260 @ 42,260 | 42,260 | 42,260 | 42,260 | 42,260 | 42,260 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 28,165 | 28,165
7 #%9, 00 2,113 2,113 2,113 2,113 2,113 2,113 2,113 2,113 2,113 0 0 0 0 0 0 0 0 0 0
fi *4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
K| w0 | #4.80 ke 19,790 | 19,790 | 19,790 | 19,790 | 19,790 | 19,790 | 19,790 | 19,790 | 19,790 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851
o TE
JiE
B 4.10 774 774 774 774 774 774 774 774 774 619 619 619 619 619 619 619 619 619 619
# 4. 80 2,015 2,015 2,015 2,015 2,015 2,015 2,015 2,015 2,015 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342
#%9, 00 5 5 5 5 5 5 5 5 5 0 0 0 0 0 0 0 0 0 0
. *4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
i V5235 #4.80 ke 257 257 257 257 257 257 257 257 257 369 369 369 369 369 369 369 369 369 369
4 2}
Ial E
W
1 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#%9, 00 198 198 198 198 198 198 198 198 198 0 0 0 0 0 0 0 0 0 0
A *4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
T b= #4.80 ke 241 241 241 241 241 241 241 241 241 225 225 225 225 225 225 225 225 225 225
i) DE:

(




RIFFEETT 8
B — 2

(20214 )
; e %1 %2 - %3 %4 - - 3 WA
I = 7 . = BT = 7 G BT = BT = 7 G G =
B H %ﬁa%% HAL | 4H 5H 6 H e 7H 8 A 9H P2 EWE | 104 11H 124 Wi 2 1A 2 A 3A R TR | ARG a5
4.10 0 0 0 0 0 0 0 0 0 3, 766 0 0 3, 766 0 0 0 0 3, 766 3, 766
4. 80 0 0 0 0 0 0 0 0 0 | 14,095 0 0 | 14,095 0 0 0 0 | 14,095 | 14,095
#%9, 00 0 0 0 0 0 0 0 0 0 2,113 0 0 2,113 0 0 0 0 2,113 2,113
*4, 80 0 0 0 0 0 0 0 0 0 7,041 0 0 7,041 0 0 0 0 7,041 7,041
vIUDR ke
s 4.10 0 0 0 0 0 0 0 0 0 155 0 0 155 0 0 0 0 155 155
4. 80 0 0 0 0 0 0 0 0 0 673 0 0 673 0 0 0 0 673 673
W #%9, 00 0 0 0 0 0 0 0 0 0 5 0 0 5 0 0 0 0 5 5
*4, 80 0 0 0 0 0 0 0 0 0 89 0 0 89 0 0 0 0 89 89
o 77235 ke
DE
A
#
% 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#%9, 00 0 0 0 0 0 0 0 0 0 198 0 0 198 0 0 0 0 198 198
‘ *4, 80 0 0 0 0 0 0 0 0 0 86 0 0 86 0 0 0 0 86 86
R TN =T L ke
DE
o
4.10 0 0 0 0 0 0 0 0 0 3, 766 3, 759 3,752 3,752 3,745 3,739 3,732 3,732 3,732 3,732
Ly} 4. 80 63,415 | 63,415 | 63,415 | 63,415 | 63,415 | 63,415 | 63,415 | 63,415 | 63,415 | 65,461 | 65,370 | 65,274 | 65,274 | 65,178 | 65,092 | 64,997 | 64,997 | 64,997 @ 64,997
#%9. 00 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 2,113 2,111 2,110 2,110 2,108 2,107 2,105 2,105 2,105 2,105
g '7 7 ‘/@% kg
f#
4.10 0 0 0 0 0 0 0 0 0 155 149 144 144 139 134 130 130 130 130
)ﬂ 4. 80 1,467 1,467 1,467 1,467 1,467 1,467 1,467 1,467 1,467 1,896 1, 840 1,782 1,782 1,725 1,676 1,622 1,622 1,622 1,622
#%9. 00 10 10 10 10 10 10 10 10 10 5 5 5 5 5 5 5 5 5 5
77235 ke
M o
FS
E Mk
= 4.10 0 0 0 0 0 0 0 0 0 0 2 4 4 7 8 10 10 10 10
4. 80 582 582 582 582 582 582 582 582 582 459 477 496 496 515 531 547 547 547 547
o #%9, 00 490 490 490 490 490 490 490 490 490 198 196 195 195 193 191 190 190 190 190
B S h=wa ke
DE
4.10 0 0 0 0 0 0 0 0 0 0 1,167 2,412 2,412 3,654 | 4,768 5,998 5,998 5,998 5,998
4. 80 30,064 | 30,064 | 30,064 | 30,064 | 30,064 | 30,064 | 30,064 | 30,064 | 30,064 | 22,723 | 23,745 | 24,838 | 24,838 | 25,932 | 26,919 | 28,012 | 28,012 | 28,012 = 28,012
#%9. 00 40,277 | 40,277 | 40,277 | 40,277 | 40,277 | 40,277 | 40,277 | 40,277 | 40,277 0 1,225 2,535 2,535 3, 849 5, 039 6, 364 6, 364 6, 364 6, 364
PRBESE MWd/t




RIFIEEIT 8

BIHE— 3
(20214 )
. e %1 %2 - %3 %4 - - 3 WA
I = 7 . = BT = 7 G BT = BT = 7 G G =
B H 1%@%‘ HAL | 4H 5H 6 H P32 7H 8 A 9H Do $ 2 EMEt | 10A 114 124 DU 2 1A 2 A 3 A AT TR | ARG P
4. 80 0 0 0 0 0 0 0 0 0 | 10,988 0 0 | 10,988 0 0 0 0 | 10,988 | 10,988
#%9. 00 0 0 0 0 0 0 0 0 0 6,578 0 0 6,578 0 0 0 0 6,578 6,578
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 80 0 0 0 0 0 0 0 0 0 8,102 0 0 8,102 0 0 0 0 8,102 8,102
vIUDR ke
4. 80 0 0 0 0 0 0 0 0 0 133 0 0 133 0 0 0 0 133 133
#%9, 00 0 0 0 0 0 0 0 0 0 10 0 0 10 0 0 0 0 10 10
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 80 0 0 0 0 0 0 0 0 0 202 0 0 202 0 0 0 0 202 202
_|vTFv235 ke
g D
s
% i 4. 80 0 0 0 0 0 0 0 0 0 138 0 0 138 0 0 0 0 138 138
#%9, 00 0 0 0 0 0 0 0 0 0 490 0 0 490 0 0 0 0 490 490
i *4. 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
‘ *4., 80 0 0 0 0 0 0 0 0 0 70 0 0 70 0 0 0 0 70 70
I NN ke
DE
o
4. 80 0 0 0 0 0 0 0 0 0 | 49,628 0 0 | 49,628 0 0 0 0 | 49,628 | 49,628
Ly} #%9. 00 0 0 0 0 0 0 0 0 0 | 40,277 0 0 | 40,277 0 0 0 0 | 40,277 | 40,277
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 80 0 0 0 0 0 0 0 0 0 | 26,949 0 0 | 26,949 0 0 0 0 | 26,949 | 26,949
PRBESE MWd/t
=
f#
2.00 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206
ﬂq 3.50 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717
4.10 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310
4. 80 45,570 | 45,570 | 45,570 | 45,570 | 45,570 | 45,570 | 45,570 | 45,570 | 45,570 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558
M UTyoRE | #9.00 ke 0 0 0 0 0 0 0 0 0 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578
2
FS
W 7E
2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
i 3.50 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246
4.10 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689
B 4. 80 515 515 515 515 515 515 515 515 515 648 648 648 648 648 648 648 648 648 648
V5235 %9.00 ke 0 0 0 0 0 0 0 0 0 10 10 10 10 10 10 10 10 10 10
DE:
EiN
i 2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
3.50 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249
4.10 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100
H 4. 80 577 577 577 577 577 577 577 577 577 715 715 715 715 715 715 715 715 715 715
TR =U A #%9.00) ke 0 0 0 0 0 0 0 0 0 490 490 490 490 490 490 490 490 490 490
~ D&
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(20215E5)
. e 1 w2 - %3 %4 - o | 3WAE
T H %ﬁg HAAL 4 A 5H 6 H L 32 7H 8 A 9 H L 3 G 10H 11H 12H DL 3 1A 2 A 3H DL 312 T | RS a3t
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ZAZNE2) S ke
I3
[
Las 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
L/
A f77(‘gé35 kg
fii |
i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
(] 2 =ty ke
(233

Z O PR

T O

*ENIFE O 720 OBIREM S % 7~ 1, B
XU T 2 T =T NRAREY (TN =0 LERR) 7T,




(20224EF )

% L NESHHAEE FHRER E2 s BHFEEH 3FF
% B Fr BrOE E I RVEFFOERMF BT B F F % = BiED 7. vIF v - U b= MREBMUERKIBOEEAKGET (INEKE)
F&ARH 77 (kW) 890, 000 kW B 73w 2, 660, 000 kW

= B | | aB 58 on | gl | A 8 A of | ZoB | bmer | 108 | 118 | 128 | FR0 | 1A 28 sn | BoB | v | mmw | 27
B K B S| 10°kw 915 918 918 918 918 918 ——
BT B B A 100k 885 888 820 50 439 664 ——
& W F % 97 97 97 97 75 89 0 16 5 48 72 —
AR % 99 100 92 6 49 7B
BB RM K h 2, 208 4, 392 744 720 576 2, 040 0 120 120 2, 160 6,552 ——
| REBHWEHE | 10° kih 1,955 3,898 1, 810 107 1,917 5,815 ——
EERENE | 10° kWh 1, 875 3,739 1,734 79 1,813 5,552 ——
E|FT AN E S E| 10° kWh 80 159 27 26 23 76 9 11 28 104 263 ——
%ﬁ( g ?_é ;ZJ% )?‘ % 34 34 34 35 34 34| ——
| BB | 10° kW 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 0 2, 660 2, 660 2, 660 2,660 ——
2R EEHS | 107 kY 2,580 2,580 2, 580 2, 580 2, 580 2, 580 2,580 2, 580 2, 580 2, 580 2, 580 1,998 2, 384 0 416 143 1,276 1,930 —
| # gggﬁgg h 720 744 720 2,184 744 744 720 2, 208 4, 392 744 720 578 2, 042 0 220 220 2, 262 6,654 ——
B | BIEEE | 100k 6, 688 6,911 6,688 20,287 6,911 6,911 6,688  20,510| 40, 797 6,911 6, 688 5,350 18,949 0 1,115 1,115 20, 064 60, 861 ——
B E fﬁk’kg%g kg 77 30 77 234 80 80 7 237 471 80 77 62 219 0 13 13 232 703 ——
[E} ; %mg g 10° kJ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o] —
BEREE R 100 6, 688 6,911 6,688 20,287 6,911 6,911 6,688| 20,510| 40, 797 6,911 6, 688 5,350 18,949 0 1,115 1,115 20,064 60,861 ——

ERE E i I E Al A




RIFIEETT 8 S
B — 1

(20224 J¥)
; e %1 %2 - %3 %4 - - 3 AR
I = 7 . = BT = 7 G BT = BT = 7 G G =
B H 1%5‘15%% HAL | 4H 5A 6 A e 7H 8 A 9A P32 EMEt | 10A 11H 124 P32 1A 2 A 3 A EATE TR | ARG P
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
vIUDR ke
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
77235 ke
3 A DE:
&7
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
oS
TNV =L ke
DE
L]
B 4.10 15,081 | 15,081 | 15,081 | 15,081 | 15,081 | 15,081 | 15081 | 15081 | 15081 | 15081 | 15081 | 15081 | 15081 | 15081 | 15,081 9,430 9,430 9,430 9,430
9 4. 80 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 28,165 | 13,125 | 13,125 | 13,125 13,125
7 #%9. 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
fi *4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,842 1,842 1,842 1,842
K| wIo o8 | %4.80 ke | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 20,851 | 15,428 | 15,428 | 15,428 | 15,428
o TE
JiE
2t 4.10 619 619 619 619 619 619 619 619 619 619 619 619 619 619 619 387 387 387 387
# 4. 80 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 1,342 623 623 623 623
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
. *4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 48 48 48 48
] V5235 #4.80 ke 369 369 369 369 369 369 369 369 369 369 369 369 369 369 369 210 210 210 210
4 2}
Ial E
W
1 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A *4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 11 11 11 11
T b= #4.80 ke 225 225 225 225 225 225 225 225 225 225 225 225 225 225 225 187 187 187 187
i) DE:

(




RIFFEETT 8
B — 2

(20224 J¥)
; e %1 %2 - %3 %4 - - 3 WA
I = 7 . = BT = 7 G BT = BT = 7 G G =
B H 1%515%1;)';‘ HAL | 4H 5H 6 H e 7H 8 A 9H P2 EWE | 104 114 124 Wi 2 1A 2 A 3A R TR | ARG a5
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5,651 5,651 5,651 5,651
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 15,041 @ 15,041 @ 15,041 | 15,041
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 11,620 @ 11,620 | 11,620 | 11,620
vIUDR ke
s 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 232 232 232 232
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 718 718 718 718
W #%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 248 248 248 248
o 77235 ke
DE
A
#
% 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 113 113 113 113
S TV b= A ke
DE
oS
4.10 3,726 3,719 3,713 3,713 3,707 3,701 3, 695 3, 695 3, 695 3, 688 3, 683 3,678 3,678 3,678 3,678 7,486 7,486 7,486 7,486
L] 4. 80 64,906 | 64,813 | 64,722 | 64,722 | 64,630 | 64,538 | 64,449 | 64,449 | 64,449 | 64,358 | 64,270 | 64,200 | 64,200 | 64,200 | 64,200 | 61,837 | 61,837 | 61,837 @ 61,837
#%9. 00 2,104 2,102 2,101 2,101 2, 099 2,097 2, 096 2,096 2, 096 2, 094 2,092 2,091 2,091 2,091 2,091 2,091 2,091 2,091 2,091
E '7 T DR kg
f#
4.10 125 121 117 117 112 108 105 105 105 101 97 94 94 94 94 277 277 277 277
m 4. 80 1,571 1,519 1,471 1,471 1,422 1,374 1,329 1,329 1,329 1,283 1, 240 1,207 1,207 1,207 1,207 1,821 1,821 1,821 1,821
#%9. 00 5 5 5 5 5 5 5 5 5 5 5 4 4 4 4 4 4 4 4
77235 ke
2 | O
ES
g
4.10 12 14 15 15 17 18 20 20 20 21 22 23 23 23 23 12 12 12 12
4. 80 563 579 593 593 608 622 635 635 635 649 661 670 670 670 670 418 418 418 418
i #%9, 00 188 186 185 185 183 181 180 180 180 178 177 176 176 176 176 175 175 175 175
2 S h=Un ke
DE
4.10 7,182 8,401 9,576 9,576 | 10,787 | 11,995 | 13,162 | 13,162 | 13,162 | 14,365 | 15,530 | 16,456 | 16,456 | 16,456 | 16,456 4,398 4,398 4,398 4,398
4. 80 29,070 | 30,164 | 31,223 | 31,223 | 32,317 | 33,412 | 34,471 | 34,471 | 34,471 | 35,565 | 36,624 | 37,465 | 37,465 | 37,465 | 37,465 | 22,079 | 22,079 | 22,079 @ 22,079
#%9. 00 7,651 8,983 | 10,274 | 10,274 | 11,609 | 12,944 | 14,237 | 14,237 | 14,237 | 15,577 | 16,877 | 17,914 | 17,914 | 17,914 | 17,914 | 18,092 | 18,092 | 18,092 | 18,092
PRBESE MWd/t




RIFIEEIT 8

BIHE— 3
(20224 J¥)
; e %1 %2 - %3 %4 - - 3 4
I = 7 . = BT = 7 G BT = BT = 7 G G =
H El 1%@1%‘ HAAL 4 A 5H 6 H DL 32 7H 8 A 9 H e EWEE | 10AH 11H 12H DL 3 1H 2 H 3H DL 3 T | RS & 3t
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 22,814 | 22,814 | 22,814 | 22,814
#%9. 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,842 1,842 1,842 1,842
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6,198 6,198 6,198 6,198
vIUDR ke
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 256 256 256 256
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 48 48 48 48
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 89 89 89 89
77235 ke
5 D
4t
% L 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 293 293 293 293
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
i *4. 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 11 11 11 11
*4., 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 75 75 75 75
Bl g IrE=0A ke
DE
oS
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 51,138 | 51,138 | 51,138 | 51,138
L) #%9. 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15,921 @ 15,921 @ 15,921 | 15,921
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 43,596 @ 43,596 @ 43,596 | 43,596
" PRBESE MWd/t
f#
2.00 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206
m 3.50 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717
4.10 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310
4. 80 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 56,558 | 79,372 | 79,372 | 79,372 | 79,372
| UIOR | #9.00 ke 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578
%_’_
FS
B 7E
2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
i 3.50 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246
4.10 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689
B 4. 80 648 648 648 648 648 648 648 648 648 648 648 648 648 648 648 904 904 904 904
V5235 %9.00 ke 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10
DE:
EiN
i 2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
3.50 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249
4.10 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100
H 4. 80 715 715 715 715 715 715 715 715 715 715 715 715 715 715 715 1,008 1,008 1,008 1,008
TNV b= 5| #%9.00| ke 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490
~ D&




RIFIEETT 8
BIHE— 4

(20224E5)
. e 1 w2 - %3 %4 - o | 3WAE
T H %ﬁg HAAL 4 A 5H 6 H L 32 7H 8 A 9 H L 3 G 10H 11H 12H DL 3 1A 2 A 3H DL 312 T | RS a3t
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ZAZNE2) S ke
%
Ll 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
L7/ RN
A &?;/)éSS kg
i | &
i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
g_{_
] TN =T L ke
(233

Z O PR

T O

*ENIFE O 720 OBIREM S % 7~ 1, B
XU T 2 T =T NRAREY (TN =0 LERR) 7T,

- 10 -




(20234 )

% i NEB KRS FHEER k2 L PHEBH 3EF
7 - B BroE B IR RV BN 5 BT R F 2 iz = WY 7. vI v - 7 b=y MREBICHEKBEEE/KGAE (InEKE)
BRI (kW) 890, 000 kW 2o 7 (kW) 2, 660, 000 kW
H B | ® | aA 58 65 i%ﬁﬁ'_ 78 8 B 9A iég E#E | 108 | 118 | 128 iﬂ—i 18 28 38 i%gﬂ st | et | 7%
B kK B A 10°kw 918 918 918 918
BF B B H| 10°kw 891 889 888 640
a2 #w  =E % 97 97 97 70
AR % 100 100 100 72
®E R MK h 2,184 4,392 8, 784 18, 960
Bt WERENE | 10° kWh 1,945 3,905 7,803 16, 843
HEEREAE | 10° kih 1, 866 3,746 7,485 16, 067
PN E S &| 10° kith 79 159 318 776
%"E % g g’g )3: % 35 34 34 34
K| BKREHA | 10° kW 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660 2, 660
I BR| BN | 107 Ky 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 2, 580 1, 860
A | gﬁ%ﬁg h 720 744 720 2,184 744 744 720 2,208 4, 392 744 720 744 2, 208 744 696 744 2, 184 4, 392 8, 784 19, 162
|| BIEEE | 100k 6, 688 6,911 6,688 20,287 6,911 6,911 6,688 20,510 40,797 6,911 6, 688 6,911 20,510 6,911 6, 465 6,911  20,287| 40,797 81,594| 176, 118
| E té%g%g ke 77 380 77 234 80 80 77 237 471 80 77 80 237 80 75 80 235 472 943 2, 035
[E} ;ﬁ %ﬂﬁg g 10° kJ 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
WOEHE B 100k 6, 688 6,911 6,688 20,287 6,911 6,911 6,688  20,510| 40,797 6,911 6, 688 6,911 20,510 6,911 6, 465 6,911  20,287| 40,797 81,594 176,118
IRV B B E il A
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RIFIEETT 8 S
BIE— 1

(20234 J¥)
; e %1 %2 - %3 %4 - - 3 AR
I = 7 . = BT = 7 G BT = BT = 7 G G =
B H 1%5‘15%% HAL | 4H 5A 6 A e 7H 8 A 9A P32 EMEt | 10A 11H 124 P32 1A 2 A 3 A EATE TR | ARG P
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
vIUDR ke
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
77235 ke
3 A DE:
&7
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
oS
TNV =L ke
DE
L]
B 4.10 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430 9,430
9 4. 80 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125 | 13,125
7 #%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
fi *4, 10 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842 1,842
K| w0 | #4.80 ke 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428 | 15,428
o TE
JiE
2t 4.10 387 387 387 387 387 387 387 387 387 387 387 387 387 387 387 387 387 387 387 387
# 4. 80 623 623 623 623 623 623 623 623 623 623 623 623 623 623 623 623 623 623 623 623
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
. *4, 10 48 48 48 48 48 48 48 48 48 48 48 48 48 48 48 48 48 48 48 48
] V5235 #4.80 ke 210 210 210 210 210 210 210 210 210 210 210 210 210 210 210 210 210 210 210 210
4 2}
Ial E
W
1 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
A *4, 10 11 11 11 11 11 11 11 11 11 11 11 11 11 11 11 11 11 11 11 11
T b= #4.80 ke 187 187 187 187 187 187 187 187 187 187 187 187 187 187 187 187 187 187 187 187
i) DE:
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RIFFEETT 8
B — 2

(20234 J¥)
; e %1 %2 - %3 %4 - - 3 WA
I = 7 . = BT = 7 G BT = BT = 7 G G =
B H 1%515%1;)';‘ HAL | 4H 5H 6 H e 7H 8 A 9H P2 EWE | 104 114 124 Wi 2 1A 2 A 3A R TR | ARG a5
4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 9,417
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 29,136
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 2,113
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 18,661
vIUDR ke
s 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 387
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,391
W #%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 5
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 337
o 77235 ke
DE
A
#
% 4.10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 198
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 199
S TV b= A ke
DE
oS
4.10 7,473 7, 460 7,448 7,448 7,435 7,422 7,410 7,410 7,410 7,398 7,387 7,375 7,375 7,363 7,352 7,340 7,340 7,340 7,340 7,340
L] 4. 80 61,748 | 61,658 | 61,570 | 61,570 | 61,481 | 61,391 | 61,306 | 61,306 | 61,306 | 61,218 | 61,133 | 61,046 | 61,046 | 60,959 | 60,878 | 60,792 | 60,792 | 60,792 | 60,792 | 60,792
#%9. 00 2, 089 2, 087 2, 086 2, 086 2, 084 2,082 2,081 2,081 2,081 2,079 2,077 2,076 2,076 2,074 2,072 2,071 2,071 2,071 2,071 2,071
E '7 T DR kg
f#
4.10 268 259 250 250 241 233 225 225 225 217 210 202 202 195 188 181 181 181 181 181
m 4. 80 1,766 1,712 1, 660 1, 660 1,608 1,557 1, 509 1, 509 1, 509 1,461 1,415 1, 369 1, 369 1,324 1,283 1, 240 1, 240 1, 240 1, 240 1, 240
#%9. 00 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4 4
77235 ke
2 | O
ES
g
4.10 16 20 23 23 27 30 33 33 33 36 38 41 41 44 46 48 48 48 48 48
4. 80 436 453 470 470 486 502 517 517 517 531 545 559 559 572 584 597 597 597 597 597
i #%9, 00 174 172 171 171 169 168 166 166 166 164 163 162 162 160 159 157 157 157 157 157
2 S h=Un ke
DE
4.10 5, 540 6,722 7,867 7,867 9,050 | 10,232 | 11,375 | 11,375 | 11,375 | 12,557 | 13,700 | 14,881 | 14,881 | 16,062 | 17,167 | 18,348 | 18,348 | 18,348 | 18,348 | 18,348
4. 80 23,134 | 24,224 | 25,279 | 25,279 | 26,370 | 27,461 | 28,516 | 28,516 | 28,516 | 29,607 | 30,663 | 31,755 | 31,755 | 32,846 | 33,867 | 34,959 | 34,959 | 34,959 | 34,959 | 34,959
#%9. 00 19,399 | 20,746 | 22,045 | 22,045 | 23,385 | 24,722 | 26,011 | 26,011 | 26,011 | 27,341 | 28,623 | 29,944 | 29,944 | 31,259 | 32,484 | 33,787 | 33,787 | 33,787 | 33,787 | 33,787
PRBESE MWd/t

- 13 -




RIFIEEIT 8

BIHE— 3
(20234 J¥)
; e %1 %2 - %3 %4 - - 3 4
I = 7 . = BT = 7 G BT = BT = 7 G G =
H El 1%@1%‘ HAAL 4 A 5H 6 H DL 32 7H 8 A 9 H e EWEE | 10AH 11H 12H DL 3 1H 2 H 3H DL 3 T | RS & 3t
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 33,802
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 6,578
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 1,842
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 14,300
vIUDR ke
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 389
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 10
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 48
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 291
77235 ke
5 D
4t
% L 4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 431
#%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 490
i *4. 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 11
*4., 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 145
Bl g IrE=0A ke
DE
oS
4. 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 50,648
L) #%9, 00 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 40,277
*4, 10 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 15,921
*4, 80 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 | 34,253
" PRBESE MWd/t
f#
2.00 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206 | 24,206
m 3.50 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717 | 23,717
4.10 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310 | 185,310
4. 80 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372 | 79,372
| UTOR | #9.00 ke 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578 6,578
%_’_
FS
B 7E
2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
i 3.50 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246 246
4.10 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689 1,689
B 4. 80 904 904 904 904 904 904 904 904 904 904 904 904 904 904 904 904 904 904 904 904
V5235 %9.00 ke 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10 10
DE:
EiN
i 2.00 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176 176
3.50 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249 249
4.10 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100 2,100
H 4. 80 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008 1,008
TNV b= 5| #%9.00| ke 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490 490
~ D&
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RIFIEETT 8
B — 4

(20234 5)
. e %1 %2 - %3 4 - - 3
T H %ﬁg HAAL 4 A 5H 6 H L 32 7H 8 A 9 H L 3 G 10H 11H 12H DL 3 1A 2 A 3H DL 312 T | RS a3t
0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
ZAZNE2) S ke
%
bas 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
L7/ RN
A &?;/)éSS kg
i | &
i 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0
3
] TN =T L ke
(233

Z O PR

T O

*ENIFE O 720 OBIREM S % 7~ 1, B
XU T 2 T =T NRAREY (TN =0 LERR) 7T,
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ARG 2 28 B9 S B A Rl L 725

FI7FEEHT 3 S HIZ DN T, HEREHE (ER) Wiz LET,

1. ZAHHH

FFIEFT 3 5 IZ OV T, 2020&ﬂjﬂ175)ﬁ%*“ﬁ#gmw>
PUEFRICBWC R A2EIE L TR B RN EDIRENRINTZZ L ITHED,
TEHA B 2 BRI ED B 2 kb%>$%ﬁﬁ%ﬁﬂmkbfwto

IO, 202143181, ILEESERAFT CORBR BT,
HRs (LA i 2 B TR EN SN i=7- 0, TEREME . #%ﬂ%%
K ORFIFOIRHNCEE T D158 54 3560301 7 KON EZHEEHR
DOEXE . GEIREICEET A M 55 6 4 555 STHOBEIZ LV | Efisdm ()
T 5,

2. EKHEANR

75 B i IR 1%
20194 12H26H~
%1 5]\
L ‘ 202141 0H31H
EHIHEFT R (6768)
b 7B AT B16Y A7 RIE 419H
35
20224F12H25H~
¥16[H
. \ 202343H26H
EHFEEE A (92 1)
3. ISfHEE

- QYI73EEEAT 3 B S IR EHEIA B LR

Uk
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